SGJ DAV SEN. SEC. PUBLIC SCHOOL, HARIPURA
Class — 10th (Assignment)
Date — 27.08.2025

Instructions:
Dear Students,
We are sending you Homework. You have to solve this work in your notebook in a neat and clean
way. You have to submit this work after the opening of school to your Subject Teacher.

Subject | Home work

English | Q 1 Air pollution in metropolitan cities has reached alarming levels, with Delhi frequently
experiencing hazardous AQI level.As a concerned citizen, write an article in 150 words on
"Environmental Pollution': A serious concern in Big Cities' You are Arjun /Avni. You may use the
following cues along with your own ideas .

1 Rapid urbanisation and individual growth

2 deteriorating air quality in cities

3 impact on public health

4 government initiatives and public responses

5 need for sustainable solutions . 5 Marks

Q2. Why are sports important for personal development .Write an article in 150 words on "The
World of Sports : Building Character and Health.' You may use the following cues along with
your own ideas

Physical fitness benefits

Teamwork and leadership skills

Stress relief and discipline. 5 Marks

Q3 You are Aditya /Aditi. You recently read about the increasing air pollution in major Indian
cities . Write a letter to the Editor expressing your concerns and suggesting measures to combat
this issue. Use ideas from Unit4- Environment, along with your own ideas. (150 words). 5 Marks
Q4. Write a factual description in not more than 100 words, of a potted plant that you and your
sibling recently chose to gift your parents. 5 Marks
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Maths

Q1 Show that v/3 is irrational. (HINT: Using contradiction method).
(3 MARKYS)




Q2 Find the zeroes of the following quadratic polynomials and verify the relationship between
the zeroes and the coefficients. 4s>—4s + 1
(3 MARKS)

Q3 Solve 2x + 3y =11 and 2x — 4y = — 24 and hence find the value of ‘m’ for which y = mx + 3.

(3 MARKS)
(HINT: Using substitution or elimination method find x and y then put in equation)
Q4 The taxi charges in a city consist of a fixed charge together with the charge for the distance
covered. For a distance of 10 km, the charge paid is 105 and for a journey of 15 km, the charge
paid is 155. What are the fixed charges and the charge per km? How much does a person have to
pay for travelling a distance of 25 km? (5 MARKS)
(HINT: Let the fixed charge be denoted by x and the charge per kilometre be denoted by yso
equation will be
x+10y=105 and x+15y=155)
QS5 A train travels a distance of 480 km at a uniform speed. If the speed had been 8 km/h less,
then it would have taken 3 hours more to cover the same distance. We need to find the speed of
the train. (5 MARKS)
(HINT: Convert into quadratic equation and use discriminant formula)

Science

1. Two wires A and B are of equal length, different cross sectional areas and made of same metal.
( 5 Marks )
(a)(1) Name the property which is same for both the wires,
(11) Name the property which is different for both the wires.
(b)If the resistance of wire A is four times the resistance of wire B, calculate
(1) the ratio of the cross sectional areas of the wires and
(11) The ratio of the radii of the wire
Ans- (a) (1) Resistivity — since the Resistivity is a property of a substance hence it remains the
same for both the wires. (i) Resistances — As both the wires are of different cross sectional areas,
so both wires are considered as different objects.
(b) .(1) Since R=For wire A R1=p L/Al
For wire B R2=PlI/A2
R1=4R2
2. (a) State ohm’s law?
(b) The value of (I) current following through a conductor for the corresponding valves of

(V)potential difference are given below (3 Marks)
| 0.5 1 1.5 2 2.5
\% 1 2 3 4.5 5

Plot a graph between V and I and also calculate resistance.
Ans . (a) At constant temperature the electric current flowing in a conductor is directly
proportional to the potential difference across the end of a conductor provided the temperature
and other physical conditions of the conductor remain the same.

(b) straight line graph

R=5/3 ohm
3. What is the function of an earth wire? Why is if necessary to earth metallic casing of electric
appliance? ( 2 Marks )
Ans- Earth will acts as a safety device. When live wire touches the metallic appliance then electric
current flows through castling to the earth instead of human body and thus we prevent ourselves
from getting shock. It is necessary to earth metallic casing of the appliance because it saved
electrical appliance from burning and prevent us from electric shock.
4. (a) What is the standard colour code followed for (i) live (ii) neutral and (iii) earth wires used
in electric circuits? (b) Which part of an electric appliance is earthed and why?(3 Marks)
Ans-(a) The standard colour code for Live wire - Red Neutral - Black Earth - Green respectively.
(b) The metallic case of an electrical appliance is earthed because metals are good conductors of
electricity and in case if current exceeds i.e. live wire touches the metallic case of an appliance
and then due to earthing all the excess amount of current flows down to the earth and we prevent
ourselves from an electric shock.
5. How does a solenoid behave like a magnet? Can you determines the north and south poles of
a current carrying solenoid with the help of a bar magnet? Explain.( 3 Marks )




Ans- When current is passed through a solenoid coil, magnetic field is produced due to presence
of turns in same direction. As a result, the resultant magnetic field is very strong and uniform.
Solenoid behaves like a strong bar magnet. We can determine the poles of magnet formed by
solenoid. The end of solenoid connected with positive terminal behaves like South Pole and the
end connected with negative terminal behaves as North Pole

6. Consider a circular loop of wire lying in the plane of the table. Let the current pass through the
loop clockwise. Apply the right-hand rule to find out the direction of the magnetic field inside
and outside the loop.( 3 Marks )

Ans- As per right-hand rule, we find that inside the loop, the magnetic field lines are directed
perpendicular to the plane of paper in the inward direction. Outside the loop magnetic field lines
are directed out of the plane paper.

S.Sc.

Answer the following questions in 120-150 words

1. Examine the significance and key milestones of the Civil Disobedience Movement that
took place in India during the struggle for independence. (5)
Hints: Key milestones Dandi March: Gandhi's 240-mile march to Dandi to produce salt
became a powerful symbol of resistance and gained international attention. Repression
and Imprisonment, Negotiations and Outcomes, Significance Mass Participation

2. “There are many ways to solve the problems of land degradation.” Substantiate the
statement with illustrations. (5)

Hints: There are various measures which can be adopted to prevent soil erosion caused
due to natural forces. -Ploughing along the contour lines can decelerate the flow of water
down the slopes. This is called contour ploughing. Terrace cultivation restricts erosion.
Large fields can be divided into strips. Strips of grass are left to grow between the crops.
This breaks up the force of the wind. This method is known as strip cropping.

3. Do you agree that the period of 1848 was considered as a phase of the Revolution of the
Liberals in Europe? Elucidate with suitable examples. (5)
Hints: 1848, in many European countries a revolution led by the educated middle classes
was underway along with the revolts of the poor, unemployed, peasants and workers. ®
In other parts of Europe such as in Germany, Italy, Poland, the AustroHungarian Empire
—men and women of the They took advantage of the growing popular unrest to push their
demands for the creation of a nation-state on parliamentary principles

4. Can you imagine a modern democratic country without political parties? Justify your
answer giving relevant points. (5)

Hints : Although the parties do not contest formally, it is generally noticed that the village
gets split into more than one faction, each of which puts up a ‘panel’ of its candidates.
This is exactly what the party does. That is the reason we find political parties in almost
all countries of the world, whether these countries are big or small, old or new, developed
or developing -The rise of political parties is directly linked to the emergence of
representative democracies. They needed a mechanism to support or restrain the
government, make policies, justify or oppose them.

5. ‘The multiparty system often appears very messy and leads to political instability. At the

same time, this system allows a variety of interests and opinions to enjoy political
representation.’ Justify the statements with relevant points referring to India. (5)

Hints: One sees several parties compete for power, and when more than two parties have
a reasonable chance of coming to power either on their own strength or in alliance with
others, we call it a multiparty system. Thus in India, we have a multiparty system. - In
this system, the government is formed by various parties coming together in a coalition.
-When several parties in a multi-party system join hands for the purpose of contesting
elections and winning power, it is called an alliance or a front.




